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(6) eI FF 06 ¥ 10 TF YAT T 2 % B E]
(7) T BAE 11§ 14 T GAE T 3 A5 B8
() e BHE 15 § 21 TF AT T 4 5B BTE]
(6) ¥ FAE 22 ¥ 26 TF FAT T 5 4% F &
Instructions :-

(1) All questions are compuisory. _
(2) Read instruction carefully of the question paper and then write answer of

the questions. o
(3) Question paper has two section - Section ‘A’ and Section ‘B’, .
(4) In the section “A” question nos. 1 to 5 are objective type. Each carries 5

marks. _
(5) Inthe section “B” question nos. 6 to 26 has internal options.

(6) Question Nos. 6 to 10 carry 2 marks each.
(7) Question Nos. 1110 1 4 carry 3 marks each.
(8) Question Nos. 15 to 21 carry 4 marks each.
(9) Question Nos. 22 to 26 carry 5 marks each.
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SECTION - A
51 WA fwer g faran - |  (5x1=5)
() @ 3Raa wgmag A fow &Fm -
(a) AUA‘:A (b) AUA'=A
S AUA=U d) AUA'=0
(i) o x+iy=2+3i, @ (x,y) B -
@ (.2 ®-T3)
() (-2,-3) (d) (2,-3)
(iii) AR "Pa= 20 x "P3, T n T A1 g -
(a) 20 (b) 21
© 18 i 23
RO L SR S L —— nC, BT A & —
(@ 2"+1 (b) 2!
¢ 2"-1 d 2"
(Q) fag (3 2 5)ﬁX—aiaﬁqﬁ%__
(@) VI8 () V30
(© V29 @ 3
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Choose the correct answer-
(1)  For any non-empty set A -
(@A AUA'=A

(0 AUA'=U

(b) AUA'=A

(d AUA'=¢

(i) Ifx +iy=2+3i, then (x, y) will be -

(3)l 3,2) (b) (2,3)
€ (-2,-3) d (2,-3)
(1ii) If "P4=20 X "Ps, then value of n is -
(a) 20 (b) 21
(c) 18 (d) 23
(iv) The value of "Co+"C1+"Ca+...oovvieeiiiiiiiiiiina, + "Cpis -
(@) 2"+1 (b) 2
) 2°-1 d) 2

(v) Distance of a point (3, 2, 5) from X - axis is -

tm;ﬂﬁ (b). V30
© V29 (d) 3
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(5X1=8)

v2  feEfaRen suEl ¥ e /o e
D) 1+i® gdm &y \/Z_(cosg+ising)§|
/(i) ITETABT 4x + 3 < 6x + 7 BT T W (-2, o) B
(i) I TS aRafde W o qen b @ GER 4G Vab 21
Aiv) TRTAT y? = dax B TG Dar & qm=@rd 22 2
(V) R fIET (-3,4,-8) 3R (5.-6. 4) FY e o Yarave @ W fa=g
& fdeis (1,-1.2) 21
Write true/false in the following statements-
(i) Polarformof 1 +1i is \/Z_(u:osf + isin E)
(ii) Solution set of inequality 4x + 3 < 6x + 7 is (-2, o),
(iii) Arithmetic mean of two positive real numbers a and b is Vab .
(iv) The length of the latus rectum of the parabola y? = 4ax js 2a.
(v) Coordinate of midpoint of the line segment joining the points (-3.4.-8)

and (5, -6, 4) are (1, -1, 2).
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13 R 10 Reeti 3 Reg = @ 0/ it - (5%1=5)

(i) Hﬁﬂ'ﬂﬁmAaﬂ?Bﬁaaﬁvam%‘,ﬁﬁAUgﬁ_Wm

BT oo 2 N v
(i) B £=((2,1) (3, 1) (4, 1) (5, 1)} FT TRER oo T — 2l
({1%2,3,4,5})

(i) [0 T A ..o T /9"
(iv) (a+b)" & TR H UGT BV W .o : (nml-ﬂ
(v) afd AR B R augell oot € T8 ANB B AT o
7| (¢L//UJ—

Fill in the blanks by given alternatives-

(i) If the elements of set A and B are 3 and 6, then minimum number of

elements N A UB IS «ooveevemiiimiiimmiiiin (6/9)
(ii) Range of the function f={(Z, DG, D@ 1) G, D}Iis cvvriniiiniiiniins
(1)/{2.3,45D
(iii) Value of [0 T PRI PP PP PPPITLY (0/1)
(iv) Number of terms in the expansion of (a+b)™is ....ovvvnnnnn (n+1/n)
(v) IfAand B are two mutually exclusive events, then the value of ANB
TR R (9/0)
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U4 TP $T TP 95 /9 H SR g - (ot

() 30x <2001 T wgeT iRy, W x v TP HEA €
© (i) TUIRR Soft An URY B ATTHS @1 g fRaT ) -
(iii) P(A)H fbas omga 8, aRA=¢? O
(iv) T (x+1,y-2)=(3,1),a@ x 3R y o7 77 2|
(v) st o, o e @ ek aR g9 3 D ged o forav |
Give answer in one word/ sentence-
(1)  Write solution set of 30x < 200, when x is a natural number.
- (i1) Write the formula of sum of n terms of geometric progression.
(i) How many elements P(A) has, if A = ¢?
(iv) If(x+1,y-2)=(3, 1), then the value of x and y is.

(v) Write component statements of the compound statement, “The sky is

blue and the grass is green”.

95 HE WISl 918y — (5X1=s)
Match the correct pair -
d (A) 9 (B)
(1) sin2x (a) sinx
(i1) tan 2x (b) cosx
(iii') cos 2x (c) ____1?;[:1:,(
. 2tan x
(iv) cos (2nm + x) (d) T
| .(v) sin (2nT + x) (e) ﬁit:—zz—:-
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el E'ﬁEa”}WWﬁﬂﬁrﬁm— A=1{1,2,3} @)

‘Write down all the sybgets of the following set- A = {1,2,3}.

a1 / OR

W U=(1,2,3,4,5,6,7,89), A= (1,23, 4}, B = (24 6, 8), T
() A" (i) B 3 @iy

fU=1{1,2,3,4,5,6,7,8,9),A=(1,2,3,4), B = (2, 4, 6, 8), then find
y A' (i) B

37 WS P(2,3,5)3R Q@4,3, ) fa & gt 5 B ()
~ Find the distance between the points P (2, 3, 5) and Q (4, 3, 1).
31erar/ OR
gufsy & fag P(-2,3.5),Q(1,2,3) 3R R(7,0,-1) X4 €|

ow that points P (-2, 3, 5), Q (1, 2,3) and R (7,0, -1) are collinear.
V/« et mE @)

x—-0 bx

sinax

Find the limitof - lim==

gar/ OR
« = 10 % Her f(x) = x* =2 JqHAS T BT |

Find the derivative at X = 10 of the function f(x) = x* - 2.
in

——__.___.__..—-'"-"'-_-—__
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ve  ffefea somt @ e foRag — @
@) ol s & S Rl # wwrg e ad 2 |
(i) V7 & o we B
Write the negation of the following statements -
(1) Both the diagonals of a rectargle have the same length.
(i) V7 is arational number.
3uar/ OR
fERENfd gr1 FfoiRaa ®em & v ik
V7 U s G R
erify by the method of contradiction: ‘v/7 is an irrational number’.

uAo {71 Deqor T W | Arem fgeH sa ART: 4,78, 9 10, 12, 13, 17

(2)

Find the mean deviation about the mean of the following observation:

4,17, S, 9,10, 12, 13, 17.

sierar / OR
Prfrae sifei & AT & W A0 R 519 R
3,9, 5 3,12, 10, 18, 4, 7. 9, 21 |

Find the mean deviation about the median for the following daty -

3,9,5, 3,_ 12,10, 18, 4,7,9, 21

739 [7410-B]
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g41 tan 15° @1 et T B |

Find the value of tan | 5

J%q1/ OR
forg ®ifony f5

tan(E + ){) 2
L (1 + tan x)

tan(% -Jc) = 1-tanx

Prove that -

tan(% t x) (1 + tan x)z

912 e o1 a+ib @ w9 H @am sifow- i’j_i ®)

5+VZi

Express the following in the formofa+ib: ==

Feqar / OR
4— 3i T O TR S B
Find the multiplicative inverse of the complex number 4 — 3i.
913 R "Cp="Cy, A1 "Cr T FIT | 5

If "Co= "Cy , then find C”"y

— ‘J—;——d—-_———_—;ge 9 of 16
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J4ar/OR
DRU'GHTERw%mﬁﬁ,%ﬁm@maﬁﬂwﬁaﬁmaﬁw

How many words, with or without meaning, each of 2 vowels and

consonants can be formed from the letters of the word DAUGHTER?
A (x+i)ﬁ 1 Rz 9ER @ A
Expand (x + }-1( )6 by binomial theorem.
3ar/OR

(Ex2 = 1)’ R # x & WA 9 5@ AR

6
Find the term independent of x in the expansion of G x? — 3i) )
X

wﬁgzl—;‘g]aﬁq}{-_—{sﬂj},?ﬁGxHaﬁ?HxG's?ﬂ?faﬁi:\?fql (4)

IfG={7,8}andH={5,4,2},thenfind GXHand Hx G.
@/ OR
qEfd® Berd f(x) = Vx — 1 HT Tid @2 IR 51 Ay |

Find the domain and range of the real function f(x) = VX = 1.
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c-id ' 24 d?

WO aRx-iy= [T A Rig AR B (2 + 7 = o

a-—

. . —
fx-iy= c_:d , then prove that (x* + y° 2 - —,

Jxar/OR
s wE i P
9 e — P A v # uRafcr |
Convert the complex number %Z—; in polar form.

G417 TP PR ) wE o e, G e e B A I & aon frget 31
mﬂﬁgmma@gmﬁzﬁ.w%lﬁlﬁgwaWWW@W
W.mﬁiﬁrﬂmmwﬁmws{ﬁ.%[ (4)

" The longest side of a triangle < 3 times the shortest side and the third side is
2 cm shorter than the longest side. If the perimeter of the: triangle is at least

61 cm, then find the minimum length of the shortest side .

gerar/ OR
ﬁﬁ%@ﬁmﬁﬁﬁﬁuﬂaﬁ@ﬂﬁﬁmﬁﬁm—
Sx +4y <40 | '
x22
y23
Solve the following system of inequallity graphically-
sxsdy<d0
| X 2 2
y23
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%18 Yamliy— y3x--5=0dRVBy-x+6=0 & 4 @ @ @ ARl @)
Find the angle between the lines y — ﬁx _c=gandV3y—x+6=0.
41/ OR
Xt dx + Ty --3=03R 2x-3y + 1 =03 yRregg g ¥ I el Xl
1 T T B, T Y W s ared §)
Find the equation Of the line passing through the point of intersection of the

lines 4x + 7y — 3.= 0°and 2x — 3y + 1 = 0 that has equal intercepts on the axes.

%19 ﬁaﬂwx2+y2-4x-s.y-45=0@3ﬁw$asﬁvﬁwai?IWI (4)
Find the centre and ra dius from the equation x> + y* - 4x - 8y - 45 = 0.
edar/ OR

dnfge S +L =1 a0 Sebwa v e o @ w1 A |

Find the eccentricity and length of latus rectum of the ellipse §+ § =1.

920 g g BRI lim g “
X7 2
Evaluate - llmﬂf"-‘-l%x
x'—’E 2
Er / OR

veorg fagia | cos x BT A THAR T BT |

Find the derivative of cos x: by First Principle.
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qﬁmﬁﬂ'@@rﬁﬁwwﬁwwéfl
Frae ™ w g , \ .
I 2 s, N

() W e g
(i) T e g 3,
(if) T B 37 7 3
(1v) Wéamq—gf%l

One card is drawn from a well shuffled deck of 52 cards. If cach outcome is
equally likely, '

calculate the probability that the card will be -
(1) A diamond
(ii) Not an ace

~ (iii) A black card

(iv) Not a'diamond
Fgqr/ OR

Ife E 2R F ucs ﬁ 4 IR g %P(E) = i,P(F) = iaﬁQP(EQ,ﬁ-‘rF):é,

ar 9 HIY -

(i) PETF

i) P(E 7T 3R F e

If E and F are events such that P(E) = i— , P(F) = %and P(E and iF) = _;_,
~ then determine -

(i) P(EorF)
(ii) P(notE and not F)
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Jasﬁaﬁ%wgﬁmm%%aﬂ?waﬁﬁﬁ?mwéﬁﬂﬁ
aﬁwhaﬂﬁ%ﬁﬂimﬁmﬁﬁﬁa%ﬁﬂaﬁmﬁﬁﬁﬁﬁﬁﬁﬁfﬁ
7 fas afdr FE B TNE I §7 (6)

In a group of 65 people, 40 like Cricket, 10 like both Cricket and Tennis.

FHow many like 'Tennis only and not Cricket? How many like Tennis?

&yar/ OR
e u=(1,2, 3,4,5,6,7,8,9}.A={2,4,6,8}3%B={2,3,5,7I},fﬁ
Tenfa s —
@ (ANB)Y=A'UB
(i) (AUBY =A'NB’
fu={1,23, 4;5, 6,7,8,9}, A= [i, 4,6,8} and B = {2, 3, 5,7, then
verify that- -\ |
@ (ANBy=AUB

i) (AUB)=A'NEB
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7.23 ﬁa%ﬁh

cos(m + x) cos(~x) )
E -
SiTl(TL’ - X) cos(l‘_:- 'H{) cot“x

Prove that-

€os{m + x) cos(~x) )
sin(m- T = cot“x
m-Xx) CDS(E +x)

Jrar/OR
Rig @

: . ) . X 3x
Sin 3x + sin 2x — sinx = 4smxcusE.cos-_:

: . . . X 3x
Prove that- Sin 3x + sin 2x — sinx = 4sinx C0S>.COS—

W TR 3mHE Rigia @ wam g7 fig FiRT f —

2
134 232438 o 40¥= [“("2“’] VvneN €

By using the principle of mathematical induction, prove that-

- 2
134+ 23433 et = [n(n;l)] vneN

iar/OR
Tl SmTEA ﬁi@l’ﬁ%ﬁﬂé’mﬁﬁzﬂ%ﬁﬂﬁsnmnxmﬁ,ma
&1 T O g VneN.
By uging of the principle of mathematical induction prove that

n(n + I)n+5)isa multiple of 3,V n e N.
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\Mmr.w,m,?m ................... % n Usl &1 AN FE BT | (s)

Find the sum of the sequence 7, 77, 777, 7777 ............ to n terms.

Huar/ OR

3n+1+ bn+1

A T b @ HEd WHINR WG &, al n &1 HE ST DI |

an+p"

aI‘.I‘H. + bn +1

If o is the Arithmetic mean between a and b, then find the value of

n.
Y26 79 oifegl & foq ama & wmet Ay faads smd ifau- (5)

Xi 5 10 15 20 25
f; 7 4 6 3

A

Find the mean deviation about the mean for the tollowing data:

X 5 10 15 2 25
fi 7 4 6 3 5
Jgar/ OR
fr= sifesl @ forg wea, TER A WS Rge sd e -
6. 7. 10, 12, 13, 4, 8, 12

Calculate the mean, variance and standard deviation for the followine data -

6,7,10,12,13,4, 8,12
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